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FINAL ANSWER KEY
Question Paper Code: 20/2025/0L
Exam:INTEGRATED 5 YEAR LLB 2025

Date of Test: 01-06-2025

1.  Which one of the following is an incorrectly spelled word?
A) capitulate
B) bilk
c) bane
D) asiduous
Correct Answer : Option D
2.  Which one of the following is an incorrectly spelled word?
A) caucus
B) accredited
C) circumvant
D) unabated
Correct Answer : Option C
3.  Which one of the following is an incorrectly spelled word?
A) Gastroenterologist
B) Hemaetologist
c) Neurologist
D) Endocrinologist
Correct Answer : Option B
4. Which one of the following is a correctly spelled word?
A) Photographor
B) Commissionar
Cc) Astranauts
D) Archaeologist
Correct Answer : Option D
5. Which one of the following is a correctly spelled word?
A) commensurate
B) proporsionate
C) asymmatrical
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D) resurection
Correct Answer : Option A

6 Which one of the following is nearest to the opposite in meaning to the word given in
capitals? COGNIZANT

A) ware

B) careful

Cc) attentive

D) unconscious

Correct Answer : Option D

7 Which one of the following is nearest to the opposite in meaning to the word given in
capitals? AMBIGUOUS

A) vague

B) mystic

C) understandable
D) confusing

Correct Answer : Option C

8 Which one of the following is nearest to the opposite in meaning to the word given in
capitals? EFFICACIOUS

A) fruitful
B) unproductive
c) feasible

D) practical
Correct Answer : Option B

9 Which one of the following is nearest to the opposite in meaning to the word given in
capitals? POROUS

A) impermeable
B) permeable
C) penetrable
D) concentrate

Correct Answer : Option A

10 Identify the meaning of the idioms or phrases given in capitals in the sentence:
* The Professor has HIT THE NAIL ON THE HEAD in the class room.

A) taught wrongly
B) described something exactly right
C) given irrelevant examples
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D) scolded the students
Correct Answer : Option B

1 Identify the meaning of the idioms or phrases given in capitals in the sentence:
* In urban areas, the housing plot COSTS AN ARM AND A LEG.

A) cheaprate

B) moderate price

C) very expensive price
D) plots are sold out

Correct Answer : Option C

12 Identify the meaning of the idioms or phrases given in capitals in the sentence:
* Do not CRY OVER SPILLED MILK.

A) worry about the future

B) plan for the future

c) Happy about something that has already happened
D) upset about something that has already happened.

Correct Answer : Option D

Pick out the most effective word from the given words to fill in the blanks to make the
13. sentence meaningfully complete.
The dispute among the players continued with bitterness and

A) acrimony

B) goodwill

C) patience

D) magnanimity

Correct Answer : Option A

Pick out the most effective word from the given words to fill in the blanks to make the
14. sentence meaningfully complete.
is the theory that one can neither prove nor disprove the existence of God.
A) Theism
B) monotheism
Cc) Agnosticism
D) Atheism

Correct Answer : Option C

Pick out the most effective word from the given words to fill in the blanks to make the
15. sentence meaningfully complete.
A sudden violent reaction is called
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A) backlog

B) backlash

Cc) backache
D) backhanded

Correct Answer : Option B

Pick out the most effective word from the given words to fill in the blanks to make the
16. sentence meaningfully complete.

The teacher had an important to make in the class room
A) paper
B) announcement
C) lesson

D) meeting
Correct Answer : Option B

17 Find out the correct preposition

The old man appealed help
A) with
B) for
c) on
D) to

Correct Answer : Option B

18 Find out the correct preposition

Thetrainis ___ the tracks
A) on
B) to
c) with
D) at

Correct Answer : Option A

19 Find out the correct preposition

The Public Library is my house
A) within
B) between
c) far
D) near

Correct Answer : Option D
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20 Find out the correct preposition

The friend senthima gift _ courier
A) to
B) in
c) through
D) with

Correct Answer : Option C

21 Find out the correct preposition

You have to leave the Park ___ it gets dark
A) after
B) before
c) later
D) dueto

Correct Answer : Option B

22. Change the sentence “ He has insulted you ” into an interrogative sentence
A) Did he insult you ?
B) Does he insult you ?
Cc) Isheinsulting you?
D) Has he insulted you?

Correct Answer : Option D

23 Change the sentence “ He could buy many books on discount ” into an interrogative
sentence

A) Could he buy many books on discount?
B) Can he buy many books on discount?
c) Will he buy many books on discount?
D) Did he buy many books on discount?

Correct Answer : Option A

24 A sentence is divided into three parts. Choose the incorrect part. If there is no error in the
sentence , choose the option (4).

A) She moved among the village women
B) taught her hygiene

C) and sanitation

D) No error

Correct Answer : Option B
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25 A sentence is divided into three parts. Choose the incorrect part. If there is no error in the
sentence , choose the option (4).

A) conduct Space research

B) launches satellites and

c) ISRO designs, develops and
D) No error

Correct Answer : Option A

26 A sentence is divided into three parts. Choose the incorrect part. If there is no error in the
sentence, choose the option (4).

A) Ateacher’s primary duty is

B) to guide and facilitate the learning
C) process systematically

D) No error

Correct Answer : Option D

27. Choose the word nearest in meaning to the word given in capital letters: EXALT

A) deny
B) blame
c) refuse
D) laud

Correct Answer : Option D

28. Choose the word nearest in meaning to the word given in capital letters: DWELL

A) move
B) leave
C) reside
D) depart

Correct Answer : Option C

29. Choose the word nearest in meaning to the word given in capital letters: BESTOW

A) confer
B) take

c) deny
D) withhold

Correct Answer : Option A

30. Choose the word nearest in meaning to the word given in capital letters: MULTITUDE
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A) abundance

B) little
Cc) single
D) handful

Correct Answer : Option A

Rearrange the parts to form a meaningful and coherent sentence:
P : social welfare and quality of life
31. Q: most progressive States in
R : Kerala is one of the
S : India, in terms of

A) QRPS
B) PQSR
c) SPRQ
D) RQSP

Correct Answer : Option D

Rearrange the parts to form a meaningful and coherent sentence:
P : attention-grabbing title
32. Q:aheadline is a concise
R : to capture the readers’ interest
S : for a news story

A) QPSR
B) RQPS
c) SQRP
D) RPQS

Correct Answer : Option A

Rearrange the parts to form a meaningful and coherent sentence:
P : causing air and water pollutions
33. Q:chemicals, gases and pollutants
R : factories and industries release harmful
S : into air and water

A) RPQS
B) RQSP
c) SPRQ
D) QPRS

Correct Answer : Option B

34. Which one of the following is a correctly spelled word?
A) incradible
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B) incredible
C) ingredable
D) ingredible

Correct Answer : Option B

35. Which one of the following is a correctly spelled word?
A) exemplary
B) examplary
Cc) exemplery
D) exemblary

Correct Answer : Option A

36. Which one of the following is a correctly spelled word?
A) supplemantary
B) supplementery
C) supplamentary
D) supplementary

Correct Answer : Option D

37. CMRL was incorporated in 1989 as a public limited company in Kerala. CMRL stands for
A) Cochin Minerals and Rutile Limited
B) Cochin Minerals and Rubber Limited
c) Cochin Magnesite and Rutile Limited
D) Cochin Minerals and Restile Limited

Correct Answer : Option A

38. The State animal of Kerala is

A) Bison
B) Tiger
c) Deer
D) Elephant

Correct Answer : Option D

39. The longest lake in India is
A) Ulsoor lake, Karnataka
B) Lonarlake, Maharashtra
c) Vembanad lake, Kerala
D) Sagar lake, Madhya Pradesh
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Correct Answer : Option C

40. The first zero landless District in Kerala is
A) Ernakulam District
B) Kannur District
C) Idukki District
D) Thrissur district

Correct Answer : Option B
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41. State producing highest quantity of coconut in India as per 2023-24 is

A) Tamil Nadu

B) Goa
c) Karnataka
D) Kerala

Correct Answer : Option C

42. The Nehru Trophy Boat Race is held in Kerala in

A) Paravur lake

B) Vellayanilake

c) Punnamada Lake
D) Pookode lake

Correct Answer : Option C

9 of 24

The Department of Space, Government of India, has set up IIST in Thiruvananthapuram.

43. [IST stands for
A) Indian Institute of Space Research and Technology
B) Indian Institute of Space Science and Technology
Cc) Indian Institute of Science and Technology
D) Indian Institute of Social Science and Technology

Correct Answer : Option B

To encourage cities to promote reading, publishing books, the World Book Capital is an

44. initiative by
A) UNESCO
B) WHO
c) UNHCR
D) WIPO
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45.

A)
B)
C)
D)

46.

A)
B)
C)
D)

47.
A)
B)
C)
D)

48.
A)
B)
C)
D)

Correct Answer : Option A

Blood clotting in human body is caused due to the deficiency of
Vitamin K

Vitamin A

Vitamin B 12

Vitamin D

Correct Answer:-Question Cancelled

The book ‘ The God of Small Things’ was written by

Salman Rushdie

Arundathi Roy

John Milton

Kiran Desai

Correct Answer : Option B

The Capital of Goa is
Ranchi

Kohima

Panaiji

Agartala

Correct Answer : Option C

Which one of the following is not sharing common boundary with India?
Afghanistan

China

Myanmar

Maldives

Correct Answer : Option D

49,
A)
B)
C)
D)

The capital city of Afghanistan is
Kandahar

Jalalbad

Kabul

Talegan

Correct Answer : Option C

50.
A)

The national language of Bangladesh is
Urdu
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B) Bengali
c) Hindi
D) Rangpuri

Correct Answer : Option B

51. The United Nations is an international organisation founded in the year

A) 1945
B) 1957
c) 1967
D) 1949

Correct Answer : Option A

B52. The disease scurvy is caused due to the deficiency of

A) Vitamin C
B) VitaminD
c) Vitamin A
D) VitaminE

Correct Answer : Option A

53. Emphysema is a disease affecting

A) liver

B) lungs
C) kidneys
D) heart

Correct Answer : Option B

B54. The Earth revolves around the Sun and it takes

A) 365.25 days to complete one revolution
B) 365.5 days to complete one revolution
C) 366 days to complete one revolution

D) 365 days to complete one revolution

Correct Answer : Option A

55. Planet among the following having maximum gravity
A) Mercury

B) Earth
c) Mars
D) Venus
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Correct Answer : Option B

56. The world’s second largest continent in area is

A) North America
B) Africa

c) Asia

D) South America

Correct Answer : Option B

57. Which one of the following is known as quicksilver ?

A) Copper
B) Zinc

c) Tin

D) Mercury

Correct Answer : Option D

58. The Sabarigiri Hydro Electric Project is located in
A) Ernakulam District of Kerala
B) Thrissur District of Kerala
c) Pathanamthitta District of Kerala
D) Kollam District of Kerala

Correct Answer : Option C

59. Which one of the following is associated with the birthplace of painter Raja Ravi Varma?
A) Kowdiar palace
B) Koyikkal palace
c) Krishnapuram palace
D) Kilimanoor palace

Correct Answer : Option D

60. The Mettur Dam is built across the river

A) Bhavani
B) Krishna
c) Kaveri
D) \Vaigai

Correct Answer : Option C
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61. Athirappilly waterfalls is situated on the
A) Periyar river
B) Chalakudy river
c) Pampa river
D) Neyyar river

Correct Answer : Option B

62. The IPL was started in 2007 to promote domestic cricket in India. IPL stands for
A) International Premier League
B) Indian Prime League
Cc) Indian Premier League
D) Indian Premier Leader

Correct Answer : Option C

63. Devastating land slide in Wayanad recently occurred on
A) June 30,2024
B) july 30,2024
C) june 15,2024
D) august 30,2024

Correct Answer : Option B

64. The prime factors of 210 are
A) 6,5and7
B) 2,15and7
c) 2,3and35
D) 2,3,5and7

Correct Answer : Option D

65. Which one of the following number can divide 454545 completely ?

A) 1
B) 8
c) 9
D) 14

Correct Answer : Option C
66. Anitem costs Rs. 250. If the item is sold for Rs.280, then the profit percentage is

A) 12%
B) 15%
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c) 20%
D) 10%

Correct Answer : Option A

67 The average weight of 10 objects is 45 kg. If another object of weight 56 kg is added, then
the average weight of the 11 objects, is

A) 47
B) 46
c) 48
D) 49

Correct Answer : Option B

The length and breadth of a rectangular shaped room are 15 units and 12 units respectively.
68. If the room is extended by increasing both the length and breadth by 1 unit, then the floor
area of the extended room is

A) 218 sq.units
B) 206 sq.units
Cc) 208 sq.units
D) 218 sq.units

Correct Answer : Option C

69 A can do a work in 15 days. Both A and B together can do the same work in 6 days. Then B
alone can do the same work in

A) 14 days
B) 12days
c) 8days

D) 10days

Correct Answer : Option D

70. An amount of Rs.18000 has to be paid to A and B in the ratio 5 : 4. Then A will get

A) Rs.9000
B) Rs.11000
c) Rs.10000
D) Rs.8000

Correct Answer : Option C
71 Rs. 1000 is deposited in a bank at the rate of 7% simple interest for 5 years. The maturity

amount is
A) Rs.1250
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B) Rs.1350
Cc) Rs.1450
D) Rs.1400

Correct Answer : Option B

72. The greatest number among the fractions 1/5, 1/4, 1/11 , 1/13 is

A) 1/5
B) 1/4
c) 1M
D) 1/13

Correct Answer : Option B

73. A man buys an item for Rs. 1200 and sells it at a gain of 15%. The selling price of the item is

A) Rs. 1370
B) Rs. 1270
c) Rs. 1350
D) Rs. 1380

Correct Answer : Option D

74. If DIRECT corresponds to FKTGEV , then ORDER corresponds to

A) QTFGU
B) QFTGT
c) QTFGT
D) QTFTG

Correct Answer : Option C

Select the option that is related to the third word in the same way as the second word is
75. related to the first word.
Sheep : Lamb :: Frog : ?

A) Calf
B) Tadpole
c) Kits
D) Cub

Correct Answer : Option B

76 From the given alternatives, select the meaningful word which cannot be formed using the
letters of the word : CLASSIFICATION

A) fiction
B) nation
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C) caste
D) facts

Correct Answer : Option C

A man walks 8 km distance from a point S along a straight line to reach a point N. Then he
77. turns 90 degrees and walks along a straight line to reach a point E. The distance
between S and E is 17 km. Then the distance between N and E is

A) 15km
B) 17 km
c) 12km
D) 16km

Correct Answer : Option A

78. The square root of 1024 is

A) 32
B) 64
c) 22
D) 42

Correct Answer : Option A

79. The legal term absolute means
A) not complete
B) false underlaw
Cc) complete and unconditional
D) incomplete

Correct Answer : Option C

80. The term accomplice legally means
A) someone who helps another person in arranging a meeting
B) someone who helps another person in a court case
Cc) someone who helps another person financially
D) someone who helps another person to commit a crime

Correct Answer : Option D

81. A person charged with a criminal offence is called as
A) arespondent
B) adefendant
C) an accused
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D) a third party
Correct Answer : Option C

82. Ad hoc Committee means
A) Committee formed with two members
B) Committee formed for a particular purpose
c) Committee formed with five members
D) Committee formed with three members

Correct Answer : Option B

83. Postponing a Court hearing is termed as
A) adjournment
B) Adidem
C) Dbequest
D) suspension

Correct Answer : Option A

84 The offence committed by someone who is already married but still goes through a marriage
ceremony with someone else, is known as

A) bigamy

B) annulment

C) monogamy
D) separation

Correct Answer : Option A

85. Smt. Droupadi Murmu was sworn in as the
A) 16th president of India on 25 July, 2022.
B) 15th president of India on 25 July, 2022
Cc) 15th president of India on 25 July, 2023.
D) 14th president of India on 25 July, 2022.

Correct Answer : Option B

86. The list of States and Union Territories is in
A) the first Schedule of the Indian Constitution
B) the second Schedule of the Indian Constitution
c) the third Schedule of the Indian Constitution
D) the fourth Schedule of the Indian Constitution
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Correct Answer : Option A

87. The constitution of India allows for a maximum of
A) 543 members in the Lok Sabha
B) 560 members in the Lok Sabha
c) 550 members in the Lok Sabha
D) 545 members in the Lok Sabha

Correct Answer : Option C

88. The Supreme Court Judges are appointed by
A) Rajya Sabha
B) Lok Sabha
Cc) the Prime Minister
D) the President of India

Correct Answer : Option D

89. Who is the current Vice-President of India?
A) Shri Bhairon Singh Shekhawat
B) Shri M.Venkaiah Naidu
Cc) Shri Jagdeep Dhankar
D) Shri Krishan Kant

Correct Answer : Option C

90. The ex-officio Chairman of the Rajya Sabha is the
A) Speaker of the Lok Sabha
B) Prime Minister of India
Cc) President of India
D) Vice-President of India

Correct Answer : Option D

91 Who was the acting Prime Minister of India for two tenures following deaths of Prime
Ministers in 1964 and in 1966 ?

A) Gulzarilal Nanda

B) Lal Bahadur Sastri

Cc) Sardar Vallabha Patel
D) Krishna Menon

Correct Answer : Option A
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92.

A)
B)
C)
D)

93.
A)
B)
C)
D)

A written promise to repay a debt at an agreed time is called as
Book value

Bond

Bought Note

Stamp paper

Correct Answer : Option B

The guardian of the Constitution of India is
The Supreme Court of India

The Lok Sabha

The Rajya Sabha

The President of India

Correct Answer : Option A

94.
A)
B)
C)

D)

The President of India is elected by the members of an electoral college consisting of the
elected members of

both Houses of Parliament and the elected members of the Legislative Assembly of States

both Houses of Parliament and the elected members of the Legislative Assembly of States
and the Union Territories of Delhi and Pondicherry

the elected members of the Legislative Assembly of States only

the elected members of the Legislative Assembly of States and the Union Territories of
Delhi and Pondicherry only

Correct Answer : Option B

95.
A)
B)
C)
D)

The first general election was held in India during
1953-1954
1951-1952
1949-1950
1955-1956

Correct Answer : Option B

96.

A)
B)
C)
D)

The reports of the Comptroller and Auditor General of India relating to the accounts of the
Union shall be submitted to the

Vice President of India
Speaker of Lok Sabha
Prime Minister of India
President of India

Correct Answer : Option D
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97. The minimum age for becoming a candidate for State Assembly election is
A) 36 years
B) 30years
c) 25years
D) 28years

Correct Answer : Option C

98 The National Commission for Scheduled Castes is a constitutional body under the Ministry
* of

A) Education, Government of India

B) Home affairs, Government of India

c) Finance, Government of India

D) Social Justice and Empowerment, Government of India

Correct Answer : Option D

99. Case law is the
A) law that is made for the welfare of court employees
B) law thatis based on the results of previous court cases
c) law thatis based on the results of previous experiences
D) law thatis based on the results of previous laws

Correct Answer : Option B

The document on which a police officer records details of the accusation against a suspect
100. is called as

A) Charge certificate
B) Charge memo

c) Charge clause

D) Charge sheet

Correct Answer : Option D

101. AOR refers to

A) Advocate On Record

B) Advocate Of Respondent
c) Advocate On Register

D) Advocate Of Regions

Correct Answer : Option A

102. The 51st Chief Justice of the Supreme Court of India is
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A) Justice Sanjiv Khanna

B) Justice Surya Kant

C) Justice M.Patanjali Sastri

D) Justice Mehr Chand Mahajan

Correct Answer : Option A

103. Special Leave Petition can be filed only at the
A) Supreme Court
B) High Court
Cc) National Green Tribunal
D) Labour Court

Correct Answer : Option A

104. PIL stands for
A) People Interest Litigation
B) Public Interest Litigation
c) Public Investigation Litigation
D) Public Interest Law

Correct Answer : Option B

105. Present Chief Justice of the Kerala High Court is
A) Justice Anil K. Narendran
B) Justice A.Muhamed Mustaque
C) Justice P.B.Suresh Kumar
D) Justice Nitin Madhukar Jamdar

Correct Answer : Option D

106. The president of the High Court Arbitration Centre, Kerala is
A) Justice Dinesh Kumar Singh
B) Justice C.S.Dias
C) Justice A Badharudeen
D) Justice Syam KumarV M

Correct Answer : Option A

107. The contempt of court is the offence of
A) not filing affidavit by the respondent
B) not filing affidavit by the defendant
Cc) disobeying a court order
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D) notfiling affidavit by a witness

Correct Answer : Option C

108. A woman appointed in a will to deal with the estate is known as
A) Nominee
B) Counsel
c) Executory
D) Executrix

Correct Answer : Option D

109. The principal judicial organ of the United Nations, is

A) the International Labour Organisation
B) the Security Council

c) the International Court of Justice

D) the General Assembly

Correct Answer : Option C

110. Income Tax Appellate Tribunal specializes in dealing with appeals under
A) Direct Taxes Acts
B) Indirect Taxes Regulations
Cc) Service Taxes Rules
D) Foreign Exchanges Rules

Correct Answer : Option A

Two statements are given. Choose the correct option based on the statements
1. Statgments P . S y .

1. Virtual Court is a concept aimed at eliminating presence of litigant or lawyer in the court
2. For paying the fine online, the receipt cannot be downloaded

A) Only (1)is true

B) Only(2)istrue

c) Both(1)and (2) are true

D) Both(1)and (2) are false

Correct Answer : Option A

Two statements are given. Choose the correct option based on the statements
Statements :
112 1. The Kerala High Court stands at the head of the judicial administration of the State of
* Kerala and the Union Territory of Lakshadweep
2. At present, the sanctioned judge strength of the High Court of Kerala is 35 permanent
judges including the Chief Justice and 12 Additional Judges
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A)
B)
C)
D)

113

A)
B)
C)
D)

is true

is true

and (2) are false
and (2) are true

Only (1
Only (2
Both (1
Both (1

~— N’ N N

Correct Answer : Option D

Two statements are given. Choose the correct option based on the statements.
Statements :

1. One can file an RTI just by writing an application on a blank plain paper in normal way

* addressed to the PIO of the concerned office.

2. If PIO delays to give information, first appeal can be preferred after the expiry of 60 days
from the date of receipt of RTI application in the office concerned.

Only (1) is true
Only (2) is true
Both (1) and (2) are false
Both (1) and (2) are true

Correct Answer : Option A

114

A)
B)
C)
D)

Two statements are given. Choose the correct option based on the statements
Statements :

* 1. Rajya Sabha is the Lower House of the Indian Parliament

2. Rajya Sabha chooses from amongst its Members, a Deputy Chairman.
Only (1) is true

Only (2) is true

Both (1) and (2) are true

Both (1) and (2) are false

~— N N N

Correct Answer : Option B

115

A)
B)
C)
D)

Two statements are given. Choose the correct option based on the statements
Statements :

* 1. A member of the Lok Sabha should be mentally sound

2. A member of the Lok Sabha should not be a bankrupt
Only (1) is true

Only (2) is true

Both (1) and (2) are false

Both (1) and (2) are true

Correct Answer : Option D

116. Two statements are given. Choose the correct option based on the statements
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Statements :

1. Lok Sabha is composed of representatives of the people chosen by direct election on the
basis of the adult suffrage
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2. Shri Om Birla is the present Speaker of the Lok Sabha
A) Only (1)is true
B) Only(2)istrue
c) Both (1) and (2) are true
D) Both(1)and (2) are false

Correct Answer : Option C

117. The legal term for money awarded by a court as compensation is
A) damages

B) penalty
c) levy
D) fine

Correct Answer : Option A

118 Making a statement, either orally or in writing, which damages someone’s reputation is
" legally termed as

A) crime
B) commendation
c) offence

D) defamation

Correct Answer : Option D

119. A notice to limit responsibility is referred as
A) confirmation
B) confession
Cc) adisclaimer
D) an acknowledgement

Correct Answer : Option C

120 A contract between the owner of a property and a tenant, giving the tenant sole use of the
* property for an agreed time, is known as

A) freehold
B) lease
C) sale

D) arrangement

Correct Answer : Option B
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